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RBSIW(P)/20

many W0 digit prime numbers are

6. How

there?
(A) 21
(B) 25
(©) Can’'t be determin

(D) 23

ed

7. Which one of the following 1s not d Dwarf

Planet?
(A) Ceres
(B) Pluto
(C) Eris
(D) Neptune

8. If ‘X$Y means X is father of Y’; ‘X#Y’

means ‘X is mother of Y; ‘XxY’ means ‘X 18
sister of Y’, then how is D related to N in

N#A$BxD?
(A) Granddaughter
(B) Nephew
(C) Can not be determined
(D) Grandson

9. Torr is the Unit of
(A) Momentum
(B) Pressure
(C) Work
(D) Force

10. Which of the following is not a bacteria
related disease?
(A) Pneumonia
(B) Typhoid
(C) Influenza
(D) Diphtheria

X, Y-933d; X #Y M
Y-43 @’ 737, O 4
g7 A FARFO?

) ofr <X $Y’ e

X, Y- ar; Xx Y o &

N#A$BxD—c@D‘<ﬁ@TﬁN
(A) A

(B) ozl hn/

() fef a1 ;1T T A‘

(D) e 6~ O

9. Torr FI19 Unit?
(A) sife (Momentum)
(B) 519 (Pressure)
(C) 31 (Work)
(D) 3« (Force)

e @ TFHRAES NS S 77 7
(A) S

(B) GTRTET

((23/ TG

(D) feorafaa
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RBSIW(P)/20

IS. 1f height of Mercury in a Barometer
decreases rapidly 1t denotes
(A) chances of Sunny weather
(B) chances of storm
(C) chances of clean weather
(D) chances of rain

16. Who wrote the play ‘Mudrarakshasha’'?
(A) Vishakhdutta
(B) Shudrak
(C) Kalhan
(D) Kalidas

17. 45 men can produce 10000 electric bulbs in
12daysinaco-operative concern. The concern got
an order to produce 10000 electric bulbs in 9 days.

How many more men would be employed to meet
the order?

(A) 55
(B) 60
(C) 10
(D) 15

18. The Hindalco Unit at Muri is located on the
bank of which river?

(A) Subarnarekha
(B) Mahanadi

(C) Tungabhadra
(D) Kangshawati

19. A tea seller blends Tea A worth
Rs. 250 per kg with Tea B worth Rs. 150 per kg in
a ratio of 2 : 5 and sells the mixed blend at
Rs. 200 per kg. What will be his percentage of profit?

(A) 10%
(B) 12%
(C) 18%
(D) 15%
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nﬁmﬁwqmmmmw
ﬁmﬂwmwwm?

(A) (R SIaReqIT A

(B) e T

(C) A% SRS HSI!

(D) 3 Tl

() firng
(B) @<
(C) FeTed
(D) e

. 93 AR AW 45 T Jfe 12 W
1ﬁﬁmewmnﬂzﬁ9ﬁm
100006 9@ tefaa e A | e Sfofde e
(&1 ©Iwa izl 340 203, A8 731 1t 7ot

O ? v - b
- f‘(ﬂ-am
(A) 55 S§ 5 M
(BY 60 9 "
(©) 10 Ly
(D) 15 Pow

18. fe RwieTean w1 (ol e Sive Wy ¢
(A) FRefca
(B) Wi
(C) poeu
(D) FAITS!

“f. 4 SHITES! 250 B/l A B
15 W/@%WBW-&?W2:5WW
G | 9719 @ fafers 51 200 Breet) ofes et 3

(A) 10% B0t T
(B 12% - 2
(©) 18% 156 g1

201



20. which of the followin
,0cSS park Web?
(A) 108
(B) Google Chrome
(C) Tor
(D) Linux

215 a browser 1o

211. A sulm. at lhc‘compound rate of interest,
hecOMES 22 umes 1n 6 years. The same sum
hecomes how many times in 18 years?

(A)

(B)

22. G’s father is X’s son. P is G’s uncle. Y is
X's brother. Then how is Y related to P?

(A) Brother
(B) Uncle
(C) Father
(D) Nephew

23. Who has won the India’s Science Award,
Bhatnagar Puroshkar for Chemistry in 20207
(A) Prof. Surjendu Dutta

(B) Prof. Surajit Dhara
(C) Prof. Rajat Shubhra Hazra

(D) Prof. Jyotirmoyee Das
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20. Graffers @ Browser 52 A2 Dark Web
access &1 AW ?

(A) =% ¢ 9%

(B) s &

(C) 52

(D) 7=

21, e Afel i, 5edE 20EE X 6 T
2V, 24 77 | €% GF% AT T 18 7R FOBI LAY

255
(A) %262 o t~ \fo
(B) % e ¥
(©) %
(D) -2‘-15—

. G~47 A1 T X~ 79 | P T G- 7
Y 25 X-02 O | o Y, P @ e x>l
(A) T ‘P_«»\();,‘\"7
B T
(C) =l
(D) oAt

23. 2020 FNE T *TE (& @ CFa (R
FEI CHASE TR TS FIRA ?
(A) AT Y 78
(B) 2r@d Tafere 4l
(C) ATFAR IGouy el
(D) & cenifest 7

e



KBMW(I)/ L0

24. If ume taken to travel between two stations
has to be reduced by 20%, then by what per cent
would the speed of the train has to be increased?

(A) 30%
(B) 25%
©) 15%
(D) 20%

25. Which state of India is the first state to start
Coffee plantation?

(A) Andhra Pradesh
(B) Karnataka

(C) Kerala

(D) Tamil Nadu

26. ABCDEFGHIJKLMNOPQRST
JVWXYZ

Which letter in this alphabet is the eighth
etter to the right of the letter which is tenth letter
) the left of the last but one letter of the alphabet?

(A) 1
(B) X
(C) H
(D) W

27. Shyam borrowed some money from his
end at simple interest of 6% per annum. He
urned his friend Rs. 15,600. After how much

ne did Shyam return the money if he borrowed
. 12,0007

(A) 5 years
(B) 8 years
(C) 3.5 years
(D) 25 years
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Y% B
uﬁqm@ﬂmmmc«snmﬂﬂ:;%%
=y, wra @3l Grerd sferar #9 e @/L‘)
AT 303 °? \ L,‘"\‘
(A) 30% o7
(B) 25% v e
(&S 15% We'lge o
(D) 20% ¢ 43 YAl
\é_{\\pc’ \Q%f
Ly 4
4"’\5\ 4
25. SO (<Pl G A2 B HICAS 25T
Eul
(A) STHATH
(B) 36%
(C) e
(D) wiferry
26. ABCDEFGHIJKLMNOPQRST
UVWXYZ
TR AT (I Srwals S (<iEa
SRS WIS SR S WIS B Srwad
TP SO FTw SR 2
(A) 1
(B) X
(C) H
(D) W
%”WW“SWWCW%’{WW
6% 1 0 U1 TR | 1 O I 57 @ W7 aram
15,600 5Pt GF1 G731 1 2 11w 12,000 et 412
P, O O TR o Brew e e g 5
5 %3 ngw%“’ 2
(B) 8 Te¥ X © @g‘”"‘
(C) 3537 S
X\ ad
(D) 2.5 7 ) {
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28. Tungabhadra is g lrihutary of
(A) Godavari river

(B) Krishna river

(C) Kaveri river

(D) Brahmaputra river

29. M men agreed to purchase an article for

Rs. R. If 4 men drop out, how much more (in Rs.)
will each have to contribute to purchase the article
ot the same price?

A) =3
B) RT 4R

__4R

M? —aMm

4M —R
4R

(B)

©)

M? —4R

®) MR

30. Which state of India has highest percentage
of forest area?

(A) Nagaland

(B) Mizoram

(C) Madhya Pradesh
(D) Meghalaya

31. If the following words are arranged in
alphabetical order which word will come last?

1. Abandon 2. Actuate 3. Accumulate
4. Acquit 5. Achieve

(A) Acquit

(B) Actuate

(C) Achieve

(D) Accumulate
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(C) @A A
(D) FAofd ™ B
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\Q "
&
\} \0 \(f}
29. WV Feaas e @ @4 R Al fere e e
73 | fw St e 4WWWﬂm,WW
63 g% i g eI 2irerateD % Bl (AP 10
A RS
A 4M M
(A) RZ_4R i " s .
R Gl W
(B) 73 2N
M?* —4M w\,
4M R
© 4R
M?* —4R
D) =R

AT ¢
(A) TS
(B) Tt
©) TOATH
(D) (NN

\ v el e TR AEE @
*TY SR ?

1. Abandon 2. Actuate 3. Accumulate
4. Acquit 5. Achieve

(A) /{cquit )

B

Actuate

(C) Achieve
(D) Accumulate
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KBNIW(P)/20

A2, Who was the Director General of National
Government in Tamluk?

(A) Satish Chandra Samanta
(B) Ajoy Mukherjee

(C) Biren Sashmal

(D) Sushil Dhara

33. In human body blood does not clot in
(A) Capillary
(B) Artery
(C) Brain
(D) Ve

9 | 16 | 12

108 7 | 18

(A) 18
(B) 12
(C) 20
(D) 16

35. During whose Governorship each Police
Station of British India started functioning under
Sub Inspector of Police?

(A) Lord Bentinck
(B) Lord Cornwallis
(C) Lord Mountbatten
(D) Lord Rippon

36. If the ratio of principal and simple interest
at 4% per annum for a specific timeis 5 : 2, find the
number of years for which the principal was
deposited.

(A) 15 years
(B) 10 years
(C) 18 years
(D) 12 years

(10)

32, SETE GO HA A splelfap i (% furr
(A) FOM 5 Y
(B) e 1G]
(C) Ara« * e
(D) A 4ral

13, WA @i S G GG A Tl

34, AL P

96| 16 | 12

108 ? | 18

(A) 18
(B) 12
(C) 20
(D) 16

35, (@F SNA (GG SE e #ifTe
SRS 2B A1 A 3013 a7 S oifa5ife
G BF Y ?

(A) &6 @57

(B) 6 Fefewifer
(C) &6 ASHAH
(D) =T fom

. AW 4% & qw 93 TS T o @
AN 5 2 2, ST I BIwif T e &+
fafercas! @ zeafee ¢

7 W

.S’)\’ é

(A) 15923 . S

By 10 727 L
(C) 18 %3
(D) 12 37
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haba Atomic Reg
in :\7hu1131 state? o SeoSich Center is .
(A) Telengana
(B) Madhya Pradegh
(C) Maharashirg

(D) Odisha

38. Whosebiography is ‘Romancing with life?
(A) Amitabh Bachchap

(B) Dilip Kumar
(C) Raj Kapoor
(D) Dev Anand

39. How many 4’s are there preceded by 7 but
not followed by 3 in the following number series?

5932174269746132874
138325674395820187463

(A) Six

(B) Four
(C) Five
(D) Three

40. Using duplicate application to collect user
password is called

(A) Stalking
(B) Bullying
(C) E-bombing
(D) Phishing

41. If 1+4=9, 2+8=18, 3+6=15, then the
value of 7+8="7

(A) 30

(B) 41

(C) 32

(D) 23

(11)

RBSIW(P)/20
st sy 716 Grora (e atEs w7 ¢
(A) (STETselt
(B) syt
(f g
(D) Sfeam

38. 317 Gqaa /i ‘Romancing with life’ ?
(A) wIfrere I
(B) fasitel T2
(C) 3 Jlofd
(D) 3 S

39" Npa He AAce Fouf 4 N D A
7 5% 903 3 722

5032174269746 1
138325674395820 1

(A) =¥
(B) via
(C) ii5
(D) fom

0w

40. TS WA I IR JIRITFRA
AMNGTS e T N ot =W 2
(A) Stalking
(B) Bullying
(C) E-bombing
(D) Phishing

“jL'mﬁ1+4=9,z+&=18,3+6=15,@mma
7 4 8-97 WA O ?

(A) 30
(B) 41
(C) 32

Py 23
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KBSIW(P)/20 (12)

42. Which one of the following is a Tax-free
Sea port in India?

(A) Mumbai
(B) Kandala
(C) Cochin
(D) Haldia

43. Indian Oil Corporation’s first ‘Green
Hydrogen’ plant will be built at

(A) Paradip Refinery
(B) Mathura Refinery
(C) Jamnagar Refinery
(D) Haldia Refinery

3
4. If —

10 th of a road is 45 km, what is the

5 th of that road?

(A) 68 km
(B) 60 km
(C) 26 km
(D) 66 km

length of

45. Whichof the following is the world’s oldest
Capital City?
(A) Oslo
(B) Canberra
(C) Accra
(D) Damascus

46. CMM, EOO, GQQ, _? ,KUU

. farte @ e «afh wwE T
(A) FH72
(B ISl
(C) cIfod
(D) Zfiet

f

43, 3w oE aeefiaea 493 ‘Green
Hydrogen’ 216 (<R gifore 202 7
(A) et (STl
(B) Sl (weieligialig
(C) G517 CoeTligelsia
(D) Zefwal (eIl

?%.:nﬁmﬁm%wms%ﬁmw@
2 . p S
. . gw\mamW? r%
\S
o o LT
% A ol X 92
(C) 26 ¥ ! et
q W5 4
(D) 66 ffi '\/D _
Y %
45.%@%@%@%&%@?@@%2
(I 7 Ppxor 2
(A) S
(B) F=l
(C) i
(D) WIS

~J o~ o~
%(\CMM, E00, GOQ, 2 KUU

(A) 1SS i
(B) GRR (8] G
©) ITT i L1
(M) GS<] :
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47. Simplify .

(\/—26+\fll‘2ﬁx/ﬁ) (\/366+\/%+9\/7)
(A) 1445
(B) 2012
(C) 567
(D) 878

48. Fill in the blanks with appropriate set of

letters:
_a_bca_dabba_bac_c_a
(A) acbdba
(B) adcdba
(C) acbdab
(D) acdbba

49. A4 began a business with Rs. 2,250 and was
joined afterwards by B with Rs. 2,700. If the
profits at the end of the year were divided in the
ratio of 2 : 1. after how much time B joined the
business?

(A) 7 months
(B) 6 months
(C) 3 months
(D) 5 months

50. What is ‘Fire Ice’?
(A) Propene Hydrate
(B) Methane Hydrate
(C) Methylene Hydrate
(D) Ethane Hydrate

51. About 80% of the coal reserves of India lie
in the
(A) Mahanadi Valley
(B) Damodar Valley
(C) Godavari Valley
(D) Son Valley

(13)

RBSIW(P)/20

47. AR Al ¢
(V20 + 1125 - V567) (/500 + V245 + 917 5
(A) 1445 .
(B) 2012 o
A5\
© 561 E2
(D) 878

48, 5% acfaa faga $argmef o@d w2
_a_bca_dabba_bac_c_a
(A) acbdba
(B) adcdba
(C) acbdab
(D) acdbba

49. A, 2,250 St i @l PN oF A
AT B, 2,700 51l i < @ = | AW
AT (I AT 2 : | SIS A '€ B-4F 54 o1
T, O@ A OF F9I7 T T A B TR T&
TR ? Sﬁi

(A) 739 'L’L
(B) 6 3%
(C) 39
(D) 557

50. ‘Fire Ice’ IS NG (@HDE (@RI 2 ?
(A) (2o TR0Y6
(B) fram 2i2rwh
(C) ffafem 23w
(D) 3 TRGH

51. OIA0S AEE T 80% (I FfES R ?
(A) gl SR
(B) WINME IR
(C) (M SRIRPR
(D) (< SRAIRRPR
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RBSIW(P)/20

52. How many pairs of letters are there in the
word ‘CASTRAPHONE' which have as many
letters between them in the word as in the alphabet?

(A) §
(B) 3
(C) 6
(D) 4

53. Who was the first recipient of Padma
Vibhushan?

(A) Dr. Bir Bhan Bhatia

(B) Nand Lal Bose

(C) Pandit Jawaharlal Nehru
(D) Satyandra Nath Bose

54. Six friends, namely, A, B, C, D, E, F are
siting on a bench. E and F are sitting in the middle.
A and B are sitting in the furthest corner. If C is
sitting just left to A, then who is sitting just right
to B?

(A) C
(B) D
© E
(D) A

55. Who became the first Indian woman to win
two Olympic medals?
(A) Saikhom Mirabai Chanu
(B) P.T. Usha
(C) Lovlina Borgohain
(D) P.V. Sindhu

56. Mohini is taller than Nita but qot shorter
than Sarita. Sarita and Malini are of the same
height. Mohini is shorter than Hema. Among

them, who is the second tallest”
(A) Hema
(B) Mohini |
(C) Can not be determined

(14)

xPWﬁ“ 79 C@W'W

2. CASTRAPHOT g e e TOuH

i i s ToefF T S
HF M2 ?
(A) §
(B) 3
(C) 6
(D) 4
53, o sy ATHET 211 G e
(A) G AT wifbal
(B) «aie (I
(C) sifese GeRFETe (T2

(D) FrorE

54, A,B,C,D,EaaeFﬁifiﬂa@faa@Emam
i | E ¢34 F MR 301 9tz | A 4<% B 72 410E
<01 sz A C, A-F @ e T A,
©Ig0e B-7 G TS (F 07 W27

(A) C
(B) D
(C) E
(D) A

55. (I e Wiza F2LN Ao (S
4o AV T FACZA ?
(A) AR TR 51
(B) f+.%. Tt
(C) ot TeraiER
(D) Fife. g

56. (W2 o1 (e 7T g Jaror 2w @6
T, el G Mo el i | (R @ (2@
@ | Twery G Wy T o

(A) =

(B) cafgat

(C) e =21 31w 7y
(D) et

(D) Nita
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RBSIW(P)/20

62. Which of the following is the longest river?
(A) Brahmaputra
(B) Ganges
(C) Godavari
(D) Indus

q(‘u3. A4 and B can do a piece of work in 10 and
15 days respectively. 4 alone did the work for

4 days and then Bdid it for § days. Thereafter C did
the remaining work in 8 d
take to complete the wor

(A) 8 days
(B) S days
(C) 3 days
(D) 7 days

ays. How long will they
k together?

64. If 27th September in a year is Saturday,

then what day will be 27th October in the same
year?

(A) Saturday
(B) Monday
(C) Sunday

(D) Thursday

65. In which year Sundarban in West Bengal
has been declared as a Heritage Site”
(A) 1969
(B) 1999
(C) 1989
(D) 1979

66. Buddhist religious scripturc Tripitaka was
written 1n
(A) Sanskrit
(B) Pah
(C) Hindi
(D) Bengali

Latest Sarkari Jobs, Govt Exam Results,
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T

62. fersa (@afb ada «@t o
(A) F=efd
(B) s
(C) (stad
(D) g

63. 930 G A4 942 B A 106 15 Teet oo
A | A AT Q1 4 el T4 214 B 5 Tae1 16 w021
w1afi® F1EfB C 8 W <17 04 | fowem waca Far
G T =17 29 ¢

(A) 8 fiq
(B) 5=
(C) 3 fum
(D) 7 =

64. I @I IRAT 27 GHE =@ =,
(A €3 RS 2708 S (DI A T2

(A) =fTara
(B) G
(C) afaar

(D) g~ifeam

65. T AN ARG Fvraaas @3 ‘@R
G (AN vl 2 2
(A) 1969
(B) 1999
(C) 1989
(D) 1979

(i nfarg Tafeibe’ cm ffsice e 2t ¢
(A) §e

A

(C) fafw

(D) «ieay
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(17)

67. aArr e . (P
A garrison of 500 men had provisions for

24 avs . A\ T inf,
..-d Vs, ‘HOWt ver, a reinforcement of 300 men
arrived. The food will now last for

(A) 17% days
(B) 15 days
(C) 18 days
(D) 16 dayg

68.. Padmgshn award winner Mouma Das is
associated with which field of Sports?

(A) Table Tennis
(B) Badminton
(C) Cricket

(D) Lawn Tennis

69._ The ‘Pegasus’ spyware, allegedly used for
surveillance of phones recently, was developed

by
(A) USA
(B) Israel
(C) France
(D) Canada

70. The average of three numbers is 80. The
first number is 10 more than twice the second and
the second number is 10 less than thrice the third.
What is the lowest number?

(A) 28
(B) 68
(C) 66
(D) 26

71. On which river Tehri Dam has been built?
(A) Ravi
(B) Ganges
(C) Ichhamati
(D) Iravati

RBSIW(P)/20

J a3l rmiSfare 500 @il tna 24 farea
w1 | A8 300 T 1 Bolfgw grm 43 4w
farera (oista 19 377 9

(A) 17 fim <O ',M .
w)/ISfET?I ‘5«09’310/
(C) 18 fa=t ?7)’7,

(D) 16 =

68. oE) ST T IS WA (P (AT AR
q&E ¢
(A) (53& (Gfe
(B) AjTefirse
(C) f&ras
(D) & (Gfe

. Al I (I SIfSoirera & (AR
e JARE (@ A T, G

(I (M0 AFO LAR? {I)/VO
(A) & J&AME ;
(BY TR hr,ﬂp .
(©) 7™ YA I
D) Il v, A
D) & o
op - \bq,
70. o e oic 801 2w W fwew
i aester (AT 10 @ @k 7SR 5241 gory
AR oG (A 10 I | TS & A<D )H(
! g
(A) 28 V ¥ip*
(B) 68 %(\0 .
(C) 66 LAY
(D) 26 LKLY
(OV
. bl <
71. (ozfd b i T Tow wafFe ? w2 i
(A) 34 i
(B) &=l
(C) 2=
(D) RS
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RBSIW(P)/20

82. The Pompus grasslands are found in which
continent?
(A) North America
(B) Asia
(C) South Americy
(D) Africa

.83. Which Indian actor was recently honoured
with the Crystal Award of the World Economic
Forum?

(A) Kareena Kapoor
(B) Priyanka Chopra
(C) Anushka Sharma
(D) Deepika Padukone

84. A man standing on the platform finds that
an Express train passes himin 15 secs. If the speed
of the train is 60 km/hr, what is the length of the
train?

(A) 150 meters
(B) 250 meters
(C) 300 meters
(D) 200 meters

85. The tenure of each Member of Legislative

Council is
(A) 6 years
(B) 3 years
(C) 5 years
(D) 2 years
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RBSIW(P)/20

95. How many trangles are there in the given
figure?
A
1\
L\
(A) 14
(B) 10
() 16
(D) 12

96. Recently in which state of India, 300 years
old Sat Stone was unearthed?

(A) Haryana

(B) Madhya Pradesh
(C) Tamil Nadu
(D) Gujarat

97. HCF of two numbers is 32 and their LCMis
1760. What is the smaller number?

(A) 152
(B) 160
(C) 102
(D) 110

98. 40’clock rain 1s prevalent in
(A) Yenisei basin |
(B) Amazon and Congo basin
(C) Huang He basin
(D) Nile basin

(24)

95, Apa BfATe oo faee Sz ?

/ 11\ \

96. 2o wreie SeIRd (@ e 300
A3 DI ol 2wF S (R ?
(A) gt
(B) et

(C) oifiET g
(D) @&dh

97. Wb AL .37, GG, YUY 32 4R
1760 2=, Faed MY F©?
(A) 152
(B) 160
(C) 102
(D) 110

98. 4 9iba4 qﬁ (40’clock rain) sfaEfe @«
BITH (TS NS T ¢
(A) TR SRR
(B) SIS € (3 SRANRHI
(C) @RI SRR
(D) A SR
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99. Which state has recently declared and
celebratedaparticular day as ‘Desh Nayak Divas'?
(A) Jharkhand
(B) Bihar
(C) Odisha

(D) West Bengal

100.. If a person sells an article at a profit of 5%,
he gains Rs. 15 more than if he sells it at a loss of
5%. What is the cost price of the article?

(A) Rs. 120
(B) Rs. 150
(C) Rs. 125
(D) Rs. 105
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